
4 x M5 x 0.8 thread depth 8

NA x M6 x 1 thread depth 6

Z

ZZ

13IJ

26 10.5

6.5

2.5 13

123648

3 x M6 x 1 thread depth 13

1
.5

1
3
.5

6
.5

2 x M6 x 1 thread depth 7 Operating port 2 x Rc 1/8 (NPT 1/8, G 1/8)

1
4

1
7
.5

3
0

3
5

7

18

6

N x M5 x 0.8 thread depth 8 Note 1) Note 2)

3
0

1
.5

6
0

3

7
0

15 6

3
3

3
1

4
1
.5

0
.5

F

27

13 M

25K

126.5

25KA

126.5

6
.5

4
6

ø
9
.5

ø
1
1

ø
5
.1

26 10.5

ø
9
.5

ø
1
1

ø
5
.1

NN x M6 x 1 thread depth 12

G

B

H
A

6

HA GA

BA

2
9

Dimensions: MXQ20

Model F

45

40

48

58

42

55

50

55

62

N

4

4

4

4

6

6

8

8

8

G

22

22

22

22

—

17

18

37

56

H

46

46

46

56

—

56

56

59

62

NN

2

2

2

2

3

3

4

4

4

I

16

16

16

16

18

23

25

18

21

J  

46

  46

  46

  56

  72

100

155

190

215

K

  31

  41

  51

  61

  71

  96

121

146

171

Z

  92.5

  92.5

  92.5

102.5

120.5

153.5

210.5

238.5

266.5

M

  94

  94

  94

104

122

155

212

240

268

ZZ

108

108

108

118

136

169

226

254

282

MXQ20-  10

MXQ20-  20

MXQ20-  30

MXQ20-  40

MXQ20-  50

MXQ20-  75

MXQ20-100

MXQ20-125

MXQ20-150

(mm)

GA

  18

  18

  18

  22

  48

  73

  74

  96

118

HA

  50

   50 

  50

  56

  48

  56

112

118

124

NA

4

4

4

4

4

8

8

8

8

KA

—

—

—

—

—

126

183

211

239

Basic style

∗ For detailed dimensions about the stroke adjuster, 

refer to the option for the stroke adjuster.

Rubber stopper (Refer to page 122.)

Metal stopper (Refer to page 125.)

Max.14 (Retraction end adjuster)

Note 1) If long bolts are used, they can touch the 
guide block and cause malfunction, etc.
Refer to the Specific Product Precautions.

Note 2) Since the table is made of a magnetic 
substance, it could become magnetized if 
touched by a magnet, etc. This could cause 
auto switch malfunction. 

45.5 (Adjuster at extension end)

Adjuster at extension end

Retraction end adjuster

ø5H9         depth 5
+0.030
  0

14
.5

 (
A

dj
us

te
r 

at
 e

xt
en

si
on

 e
nd

)

2
N

-1   x F

5H
9 

   
   

   
de

pt
h 

5
+0

.0
30

  0

Bottom view of MXQ20-50

 (NN-1) x H

ø5H9          depth 5
+0.030
  0

+0
.0

30
  0

Section AA Section BB

Note) Refer to the bottom view of MXQ20-50.

Note)Note)

5H
9 

   
   

   
de

pt
h 

5

114

Series MXQ


